DATA TABLE: ECOLOGY ONLINE LAB
http://www.learner.org/courses/envsci/interactives/ecology/ 

***Open the simulator in a new window. Then click through the links on the side in order and follow along***
1. The model starts with 2 plant species present in the community. If the 2 plant species start off with the same number of individuals, make a prediction as to what will happen as time passes. Justify your prediction with 1 or more ecological definitions we have learned.
2. Test your prediction by hitting the “run” button on the model. This will simulate time passing in the community you have structured. Explain what ecological principal is being shown in the model using the term niche in your explanation. 

3. What is the final population size of plant A and plant B?

Reset the model. This time you will introduce an herbivore into the community. Hit the rabbit button and hit “eats plant A”

4. Predict what will happen now that herbivore A is present in the community.
5. How do the primary producer (plant) population size numbers compare now that an herbivore is present?

Reset the model and turn off all species. This time, you will turn on 1 species from each of the trophic levels in the food chain. Plant A, Herbivore A, Omnivore A, and Predator will all be turned on. Make sure that each species is eating all of its available food. (Omnivore A eats both plant A and herbivore A and Predator eats both herbivore A and omnivore A). 
Make a prediction about each of these species in the data table below before you run the simulation. Predict population size after 100 days. If you think the species will go extinct, use an X.
Run the model and record your actual results under simulation 1.

----------------------------------------------------------------------------------------------------------------------------------------------

Reset the model. Now, with just the same species active, change certain parameters to try to get all species to survive 100 days. Make a prediction and write down the actual results in your data table below.
DATA TABLE: ECOLOGY
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6. What happens to the number of organisms at each trophic level as you go up the food chain?
7. Does all of the energy that a producer takes in through photosynthesis get used by an herbivore that eats the producer? Explain in detail.

8. Using your answer to number 7, explain why the top predator in the trophic chain always has the least number of organisms of any trophic level in the community.
Challenge: Try to get all organisms available in the community to survive 100 days. Explain modifications you made to the simulation as you went through this task to get you closer to the goal. Were you successful?
